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AN2ISR2E & 263,644 436,962 173,318
ANZERQE 23 (LeEH) 49,324 66,482 A17,158
301 EtE NS 49,324 66,482 A17,158
10 AR =224 49,324 66,482 17,158
OAtI=2eH 49,324
-8 S(2eEy) 39,204
-5 A Hl(LeeE)
8,000 x3E * 128 »20! 5,760
-1 S Hi(Lery)
3,000 x3g =128 20 2,160
-1l = Hi(Lerty) 400,000 +3& 1,200
AR EReE BEAMUEH ItY 1,000
ANBI=RY 2 (MEISX) 36,320 58,800 A22,480
301 22N = 36,320 58,800 N22,480
10 ARSRE= 36,320 58,800 N22,480
OAtI=Z2eH 36,320
-SAHI(AEISR)
8,000 * 132 » 122 x20! 24,960
~WEHI (A=)
3,0002 x 132 * 123 »20! 9,360
- SHI (AR5 XI)
400,000 x5 12 2,000
ANEISRHME K (HEAY) 178,000 311,680 133,680
301 EtE NS 178,000 311,680 A133,680
0 AR=R22as 178,000 311,680 133,680
OMI =L S=(AEI=X) 178,000
XX KSR 247,280 168,930 78,350
[ 19,899
T 227,381
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